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Question  
part   Annotation  

(a)  

The  candidate  has  fully  explained  why  a  change  management  strategy  
is  necessary  in  a  given  context.  The  candidate  has  written  a  description  
of  change  management  (stated),  a  “because”  statement  –  to  stay  
competitive  in  the  market  (explained),  and  an  impact  statement  –  
decreased  sales  (fully  explained).  

(b)  

One  positive  and  one  negative  impact  for  inclusive  strategy  have  been  
fully  explained.  This  answer  does  not  reach  Excellence,  because  the  
candidate  did  not  provide  a  new  idea  in  the  conclusion,  which  repeats  
the  same  ideas  written  in  the  full  explanation.  

(c)   Only  the  positive  impact  of  the  trademark  has  been  fully  explained.  

(d)  

The  candidate  has  fully  explained  Kaizen  as  a  quality  management  
system  in  a  given  context.  The  candidate  has  provided  a  valid  
description  of  Kaizen  (stated),  and  evidence  of  how  Kaizen  would  affect  
the  staff  by  stating  that  staff  continuously  need  to  learn  the  new  ways  of  
keeping  quality  /  staff  training,  which  would  increase  productivity  
(explained).  The  answer  also  provided  evidence  of  how  Kaizen  would  
impact  on  competitiveness  via  competitive  advantage  by  always  
improving  quality,  enhancing  brand  reputation,  and  increasing  
customers  (fully  explained).  
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